R B X ik & &% &

R B E KR () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 439, 484 0.3 396, 882 0.8 836, 368 0.5
H % ] 178,534 -1.6 152,366 -0.6 330,900 -1.1
B 1% 310,370 -1.2 197, 378 0.9 507,748 -0.4
e LN 7 184,964 -2.5 120,858 -0.8 305,822 -1.8
i Hy 204, 7301 -0.7 82,320 -0.4 287,052 -0.6
Hi I 391, 360 1.1 293, 588 3.3 684, 950 2.0
x 3 L 122, 148 0.2 80, 342 1.8 202, 492 0.8
PN P 119,328 -0.1 66, 876 0.7 186, 206 0.2
i i 183, 198 .3 97, 382 0.5 280, 580 0.4
i 15 247,916 4.2 160, 390 2.8 408, 306 3.6
e R, 103,602 -1.1 51, 906 0.3 155,510 -0.7
Fe + 7 31,584 -2.3 11, 594 0.6 43,1781 -1.5
oo &l 37,102 0.7 31, 136 0.6 68, 238 0.6
1 e 492,672 -1.3 315, 138 0.4 807,810 -0.7
kR £ B 47,038] -0.9 17,806 -1.3 64,844 -1.0
R = % 82,412 -1.7 32,812] -0.9 115,226 -1.5
= 73 156, 178 -1.4 61, 686 0.1 217,866 -1.0
PN oy 123,160 -1.0 69, 558 -0.4 192,720 -0.8
MEMEABRIL, (REAEX2) TEHELTWET,
= 7 3,455,780 -0.3]| 2,240,018 7.2| 5,695,816 4.4




() ANBOHM., T%1 M aiEEmns

o

P 3 A B N wmom AN B (AN
EOM % E A % gt % %

H 391, 360 1.1 293, 588 3.3 684, 950 2.0
K Iy 189, 202 0.9 102, 140 3.0 291, 344 1.6
o H 158,210 -0.3 107, 022 0.7 265, 234 0.1
H = 118,320 -0.7 94, 686 0.8 213, 008 0.0
& # 143, 194 0.6 127,792 2.4 270, 986 1.5
12 7 392,532 -3.3 351, 046 0.0 743,578 -1.8
JR i 45,3521 2.1 96, 180 0.8 141, 532 -0.1
R K 65,542 2.7 72,950 0.4 138,492 -1.1
Fe & 793,890, -1.0 702, 424 0.4] 1,496,314 -0.4
B {5 33, 740 0.2 45, 886 0.6 79, 628 0.5
= Y 246,172 -1.5 154, 216 0.8 400, 390 -0.7
H H 46,072 -2.6 28,308 -0.9 74,380 -2.0
h 18 637,058] -1.1 461, 948 1.1 1,099,006 -0.2
x 73 58, 958 1.7 49, 044 1.5 108, 002 1.6
4 e 90, 348| 2.7 61, 252] -0.2 151,602 -1.7
1) A 56,184] -1.6 38, 276 1.0 94,462 -0.5

Uit 51,382] -0.2 39, 210 1.2 90, 592 0.4

XA BEIT, CGREARX2) THAELTWET,

3,517,516 —0.9] 2, 825, 968 1.0| 6,343,500 -0.1




3] iz ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
) e 247,916 4.2 160, 390 6.0 408, 306 3.6
i F 18, 316 2.9 7,926 3.3 26, 242 1.9
N 1] 26, 424 0.4 9, 248 3.8 3b, 674 0.6
JEE I a5} 23,714 0.8 11, 496 4.1 35, 210 0.7
¥ Eil 20, 556 0.4 8, 524 3.0 29, 080 0.4
[1] ] Ji 21,774 -5.8 4,768 6.0 26,544 -5.5
Y - A N 150, 054 3.1 89, 154 11.9 239, 208 3.8
® o P R 48,006 -1.3 20, 860 0.7 68,868 -0.9
® O F W 47,916 0.9 20, 746| -0.4 68, 662 0.7
®OoE O/ N 105,966 -0.3 57, 050 1.5 163, 018 .0
bES F [l 4, 290 2.0 3, 156 0.0 7, 446 .8
A Hh 19, 362 0.0 7,906 -0.3 27,2701 -0.3
i i) Ji 9,436 -0.1 5,570 0.5 15,008| -0.3
x5 = 108, 134| -1.0 51, 754 2.4 159,888 | -0.6
th 2y = 20,260 -2.1 8,472 -1.4 28,7341 -2.1
I a5} B 33,210 -0.2 16, 550 6.0 49, 762 1.0
x e N 13, 228 2.4 6,398 -0.3 19, 626 1.4
W B W 9, 604 1.6 4,174 3.2 13, 780 2.3
£3) % & 8,730 -0.6 4,674 2.2 13,404 -0.2
/ST S N ) 15,228 -1.3 18, 928 1.1 34,1581 -0.3
o I (TN 51,1201 -0.9 27,196 4.6 78, 316 .2
i) JF 14, 526 5.1 b, 748 4.9 20, 274 4.2
v £ 13,738 -0.3 6,458 -1.1 20,196 -0.7
x JI 10,346 -0.2 5,314 2.5 15,660 -0.8
[if] S 13,568 -1.0 5, 926 0.7 19,4941 -0.5
YA I 174,594 -1.9 146, 098 2.8 320, 694 0.0
XKEREANBEIT, CGREABX2) THELTWET,
= 7 1,230,016 0.7 714, 484 4.1 1,944, 522 1.2




K & ¥ ® ) ANBOHM, [%1 WL aaEsmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
Moo AR HT 15,228 -1.3 18, 928 0.5 34,1581 -0.3
i I H 21,930 0.6 6, 438 1.8 28, 368 0.9
[if] 7 5F 31,6221 -0.7 25, 168 0.8 56, 792 0.0
H /I e 15,1441 -1.0 7,436 1.6 22,5821 -0.1
Fel % H 48,646 -2.1 25, 958 0.3 74,606 -1.3
H AT N 20,992| -0.8 9, 070 1.2 30,062 -0.2
E<l) JEE 28,076 -3.0 10, 050 1.4 38,126 -1.9
5 7 [EES 91,194| -1.6 42, 750 1.5 133,944 -0.6
[if] i} F 20, 100 0.0 8,072 3.4 28, 172 0.9
®_oOOE i o 62,862 -0.9 34, 314 1.5 97, 176 0.0
P il fn 70,4921 -2.1 46, 324 0.3 116,816 -1.2
R il fn 39,474 -1.3 15, 290 0.1 54,766 -0.9
H I 5] 45, 060 0.9 21,070 4.0 66, 130 1.9
2] el w 91,716 -0.5 50, 236 1.6 141, 952 .2
[ A A 7 A 17,094 6.0 23,766 3.0 40, 862 4.2
£ I 25,428 -1.6 10, 662 0.0 36,090 -1.2
= o) % M 4,090 28.5 1,858 22.7 5,950 26.6
Hr = B 18, 188 -3.7 13, 702 0.1 31,890 -2.1
= i 19,246 -2.9 9,402, -0.4 28,650 -2.1
53] i il 40, 118 1.1 21,938 3.9 62, 058 2.1
E<l) N = 44,882 -2.6 28, 938 1.5 73, 822 -1.0
o AN F 30,396 -1.7 17,078 0.2 47,4761 -1.0
R N Al 23, 452 1.0 12, 582 3.5 36, 036 1.9
o) Kk B 16, 300 0.0 6, 896 0.5 23,196 0.1
mwoosm B M 22,1401 -0.1 12,982 -2.0 3b, 122 -0.8
iz} e & 162,786 -0.6 101, 002 3.3 263, 790 0.8
XKEREANBEIT, CGREABX2) THELTWET,
= 7 1,026,656 -0.8 581, 910 1.7 1,608, 592 0.1




& = ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
oo & 37,102 0.7 31, 136 0.6 68, 238 0.6
X ] 23,332 -0.7 12,008| -0.4 35,342 -0.6
3] % 65,876 -1.5 39,278 -0.3 105, 1564| -1.1
H F s 63, 462 0.1 55, 922 0.7 119, 386 0.4
7N HL 11,988| -0.4 7,712 -8.9 19,700 -3.9
05 S 51,542] -1.3 26,114 -0.7 77,656 -1.1
=a il 53, 660 0.4 26, 212 0.0 79, 874 0.3
+ B W % 26,682 -1.4 14,512 -1.7 41,196 -1.5
& H i 76,376] —0.5 41, 280 2.0 117, 656 0.4
% WH 24,352 -1.3 13,770, -2.0 38,124 -1.6
N i 134, 314 -1.4 86, 130 0.5 220,446 -0.6
o il 28,770 -0.4 15,560 -1.1 44,330 -0.6
il (e i 50,564 -1.1 23,032 -0.5 73,596 -0.9
K =l 16, 214 0.1 7, 564 2.2 23, 780 0.8
AH i Ji 36,550 -0.3 20, 928 .2 57,480 0.1
& PN 79,024] -0.9 46, 106 .8 125,130 -0.3
1 JE 14,376 -3.1 5,908 -1.7 20,286| -2.7
N E A B g B B 24,9521 -0.5 9,916 1.3 34, 870 0.0
il A 6,414 -2.4 3,870 -1.2 10,284 -1.9
AN + + 96,838 -0.9 72,640 0.0 169,478 -0.5
XEEANBEIL, GREABEX2) THELTWET,
= 7 922,388] -0.8 559, 598 0.1 1,482,006 -0.5




iR =3 ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
Ui b 492,672 -1.3 315, 138 0.4 807,810 -0.7
(P VN ] 65, 204 0.2 67, 230 2.3 132, 434 1.3
£3] N b3, 7h4| 3.7 54,598 -0.4 108,354 -2.0
£ JI Y 39,036 -4.8 26,402 -2.2 65,438 -3.8
] + 24,770 -3.4 9,006 -1.5 33,7761 —-2.9
AR )= 29, 186 .8 13, 052 0.0 42, 238 0.6
% * 25, 958 4.7 12,912 2.3 38, 870 3.9
H # H 50, 552 1.1 24,884 -1.0 75, 438 0.4
T ot =) 27,900 -2.6 13,480 -2.6 41,382 -2.6
bES £ a 43,940 -5.6 19,674 -2.7 63,614 —-4.7
/N B a 25,486 -3.5 11,852 -2.3 37,338 —-3.2
PN ity 123,160 -1.0 69, 558| -0.4 192,720 -0.8
XEMEANBEIL, GREABX2) THELTWET,
= 7 1,001,618, -1.5 637, 786 0.1 1,639,414 -0.9




R () ANBOHM., T%1 M aiEEmns

o

il % % A B A @ o A B (N
£ % E A % at % %

A 439, 484 0.3 396, 882 0.8 836, 368 0.5
1 310,370] -1.2 197, 378 0.9 507,748 -0.4
JI 391, 360 1.1 293, 588 3.3 684, 950 2.0
JI 19,824] -1.6 10,428 -3.5 30,254 -2.3
2 150, 054 3.1 89, 154 4.9 239, 208 3.8
My 38,386 0.2 12, 444 1.1 50, 832 0.1
e 492,672 -1.3 315, 138 0.4 807,810 —0.7
g 47,038] -0.9 17,806 -1.3 64,844 -1.0
I &% 82,412 -1.7 32,8121 -0.9 115,226 -1.5
B 156, 178 -1.4 61, 686 0.1 217,866 -1.0
e 123,160 -1.0 69, 558 -0.4 192,720 -0.8
B 11,054 4.2 6,364 -0.3 17,418| -2.8
=) 38,9301 -1.5 47, 322 2.5 86, 252 0.7
b=l + 37,850 -2.5 19,340] -3.4 57,192 -2.8
w bl + 6,886 -3.9 3,232 3.0 10,120 -3.6
H i 3,134 -5.4 1,610 -5.0 4,744 -b5.2
F A (= 5,610 -2.8 5, 426 1.0 11,036 -1.0
K A 12,180 4.4 5,432 -2.4 17,614 -3.8
US e 8,908 -5.4 4,686 3.1 13,596 -4.6

XOREEABEIT, CREABX2) THAELTWET,

2,375,490 —0.4] 1,590, 286 1.2| 3,965,798 0.2




BoR K R () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 439, 484 0.3 396, 882 0.8 836, 368 0.5
Zii H 112,474 -1.7 82, 026 1.6 194,502 -0.3
oK K 124,948 -2.4 81, 406 0.0 206,354 -1.5
K H & 87,208| -3.6 79,318 -1.1 166,526 | -2.4
B FH & 114,954 -0.3 67, 694 1.0 182, 650 .1
il r 7~ 76,944 -0.7 41, 216 2.3 118, 160 .3
(Y P4 w 123,012 -0.5 61, 564 0.5 184,576 -0.2
B =3 T 23,108 -3.9 28,248 -5.1 51,356 -4.6
T Bk 5 = 16,586 -3.0 20,990| —-11.8 37,576 -8.1
1K & 7S 65,542 2.7 72,950 0.4 138,492 -1.1
Hr 15 793,890 -1.0 702, 424 0.4] 1,496,314 -0.4
PN A (G 26,484 -2.0 22,994 2.1 49,478 -0.1
W i L5 45,480 -1.6 32,7221 -0.5 78,204 -1.1
h By 174, 650 0.9 106, 522 2.5 281, 174 1.5
& | F 57,086 -1.1 40, 910 0.3 97,998 -0.5
fep = R 52,1741 -1.0 36, 028 0.4 88,202| -0.4
FK 7 105,626 -0.2 66, 248 0.0 171,876 -0.1
i) FK bad 49,600] -0.1 3b, 814 1.9 85,414 0.7
& P < 159,398| -1.6 119, 762 2.8 279, 160 0.2
= & 123, 568 0.1 62, 104 0.1 185, 672 0.1
= i B 88,956| -0.6 41, 812 1.5 130, 768 0.1
) A N - 40, 258 -0.4 17,918 3.1 b8, 176 0.6
RV A N O 79,772 -1.1 38, 998 1.6 118,772 —0.2
o7 F 144,260 -1.2 71,782 0.2 216,044 -0.7
i8] o 31,6221 -0.7 25, 168 0.8 56, 792 0.0
hva 69, 654 -2.2 35, 380 0.3 105,036 -1.3
YA I 174,594 -1.9 146, 098 2.2 320, 694 0.0
H L5 37,882 -7.0 15,972 -3.5 53,854 -6.0
& 5] 44, 802 1.5 18, 738 6.0 63, 542 2.8
AN + + 96,838 -0.9 72, 640 0 169,478 -0.5
moooN E F 44,012 -0.7 18,780 -1.4 62,794 -0.9
= FE 39,1861 -2.8 20,234 -0.2 59,4201 -1.9
XEBEANBEIL, GREABEX2) TEHELTWET,
= 7 3,664,052 -1.0| 2,681, 342 0.6| 6,345,424 -0.3




R () ANBOHM., T%1 M aiEEmns

o

il % % A B A @ o A B (N
£ % E A % at % %

SE JI 174,594, -1.9 146, 098 2.2 320, 694 0.0
[} I ) 7,152 -1.4 6, 128 2.2 13, 280 0.2
H® i 9,426 -1.2 4,504 -2.8 13,932 -1.7
H Zid 14,270 -0.6 6, 872 0.2 21,142 -0.3
HE = 33,364 -2.0 18,574 -0.9 51,940 -1.6
# = 37,7841 -1.0 20, 886 1.8 58,672 0.0
+ e 4,782 -2.3 3,902 4.1 8, 686 0.5
& 4 20,684 -2.1 12,494 -0.1 33,1781 -1.4
Ff 18,488 -3.1 9,002 -1.3 27,490 -2.5
1E 23,5401 -0.6 10,590 -0.7 34,130 -0.7
12 17,744 -1.8 9, 158 0.2 26,904 -1.1
H i 9,490, -3.9 3,834 -0.9 13,326 -3.0
il 9,714 -3.0 4,024 -3.8 13,738 -3.2

XOFERABET, CEEABX2) THAELTWET,

381,032] -1.8 256, 066 1.3 637,112 -0.6




E B WO () ANBOAEM. (%] M arEns

il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
# = 37,7841 -1.0 20, 886 1.8 58, 672 0.0
fig JI FEBAR - FEBAR - BT -
H FK = 6,886 -1.4 2,776 -1.8 9, 662 -1.5
Tk ) 10, 166 -3.6 4,284 -2.8 14,452| -3.4
® W 51 H 5,672 7.7 2,090 -2.7 7,762 —6.4
STV A N =) 3,642 2.1 1,616 -1.3 5,260 -1.9
® O OB W 5,996 -0.2 3,198 -1.4 9,194 -0.6

MEEREABSIT, (REABX2) TRHHELTWET,

p=(tl

& F 70,146 -4.5 34,8501 -2.3 105,002| -3.8




R & X & ) ANBOHM, [%1 WL aaEsmns

il B 43 A g (N o AN B ()

B 4 EOM % E A % 7t % %
R H 439, 484 0.3 396, 882 0.8 836, 368 0.5
Zii H 112,474 -1.7 82, 026 1.6 194,502 -0.3
K p- 3 Ji 218,772 0.7 263, 352 1.1 482, 126 0.3
il [ Y 72,4041 -2.0 62, 600 2.1 135,004 -0.1
- i 174,466 -1.1 190, 470 1.6 364, 936 0.3
% Za 22,030 -0.4 26, 856 0.0 48,888 —0.1
H -3 H 114, 818 0.7 92, 798 1.2 207,618 1.0
Bm H FH H 120,882 -1.0 74, 954 3.5 195, 836 LT
S} i 51,382] -0.2 39, 210 1.2 90, 592 !
*+ h B 9, 178 2.4 5, 308 1.7 14, 488 2.1
+ -+ 79,2000 -0.9 42,470 0.6 121,670 -0.4
W + ES 27,694 -0.2 16,614 0.5 44, 310 0.1
7R D 103, 724 -0.9 75, 254 0.5 178,978 -0.3
I H 107,726 -0.1 53, 598 1.1 161, 326 0.3
[if] JI 5] 71,430 -0.3 3b, 220 2.1 106, 652 0.5
iR 81,488 -1.1 3b,126] -0.3 116,616 -0.8
] i} n 70,492 -2.1 46, 324 0.3 116,816 -1.2
i} fn 110,084 -0.1 59, 366 1.9 169, 450 0.6
[ il Fn 70,486 -0.9 30, 432 0.3 100,918| -0.5
5. g 37, 040 2.7 14, 060 3.0 51, 102 2.8
SR = S T 48, 186 0.3 39, 146 8.0 87, 334 3.6
PN = 304,688 -1.9 184, 422 2.2 489,112 -0.4
J23 US 10, 810 1.0 5, 436 1.6 16, 248 1.2

XEREANBEIL, GREAEX2) TEHELTWET,

= 7 2,458,938 -0.6] 1,871,924 1.4 4,330,890 0.3




R R () ANBOHM., T%1 M aiEEmns

o

Gl BiS 3 A B N wmom AN B (AN
EOM % E A % gt % %

o 637,058] -1.1 461, 948 1.1 1,099,006 -0.2
& 38, 806 0.0 25, 356 1.5 64, 162 0.6
ES 48,936 -2.4 21,388] -1.6 70, 324 -2.2
P 103,724 -0.9 75, 254 0.5 178, 978 -0.3
Ui P 24,464 -0.4 10, 548 0.0 35,0121 -0.3
s 28,134 -2.0 12,984 -2.7 41,118 -2.2
n = 44,7521 -0.4 19, 264 1.0 64, 016 0.0
AR} 26, 300 0.0 9, 790 1.2 36, 092 0.4
= H 29, 304 .0 9, 964 3.3 39, 268 3.1
o 62,862 -0.9 34, 314 1.5 97, 176 0.0
il Fn 18,338 -0.4 6, 774 2.9 25,112 0.5
5- 2 23,030 -0.6 9, 668 1.6 32, 698 0.0
A HT 18,812 -1.4 10, 182 1.5 28,994 -0.4
5 By 9, 808 1.4 7,594 4.9 17, 402 2.9
= 304,688 -1.9 184, 422 2.2 489,112 -0.4

XOREEABEIT, CREABX2) THAELTWET,

& 1,419,016| -1.1 899, 450 1.3| 2,318,470 -0.2




o

OB R () NEOFM. [%] HliEstaiaEsmnes
| 7 g A I=EON wmom oA B (N
£ % E A % at % %

T iz 174,466 -1.1| 190,470 1.6 364,936| 0.3
= H 114,818| 0.7 92,798| 1.2 207,618 1.0

= 1] = 14, 088 0.8 6, 668 2.2 20, 746 1.3
] T i 20,922 -0.4 10,882 0.9 31,804| 0.5
T i 299,894 -1.1| 104,934| 1.1 404,830| -0.5

i 19,732 -4.6 9,664 -2.7 29,396 4.0

<) 51,936 -0.5 28,3121 -0.1 80, 250 -0.4

HT 64,186| -1.0 30,782 0.5 94,968| 0.8

=l 134,286 -2.1 61,866| 0.2 196,152 -1.3

N = 28,0801 -3.0 12,992 -1.5 41,072 -2.5

1% 34,444 -1.7 14, 254 0.6 48, 700 -1.0

fox = 44,882 -2.6 28,938| 1.5 73,822 -1.0

I 4 33,564 -1.5 14,658 -0.4 48,224 -1.1

1A 43,664 -2.3 19,600, -0.4 63, 266 -1.7

i 161,416 -1.8 77,924 0.3 239,342 -1.1

e 28,454 -2.0 10,456 0.7 38,910 -1.7

1% ¥ 41,992| -1.8 17,750 -0.4 59, 744| -1.4

+ = 31,006 -4.5 9,934 -2.8 40, 940 4.1

F 40,712| -2.4 14,108 0.1 54,820 -1.8

XOREEABEIT, CEEABX2) THAELTWET,

& 1,382,542 -1.4 756, 980 0.7 2,139,536| -0.7




n A () ANBOHM., T%1 M aiEEmns

il B 43 A g (N o AN B ()
R 4 EOM % E A % 7t % %
PN =4 304,688 -1.9 184, 422 2.2 489, 112 -0.4
H 1 20,176] -1.2 6, 136 0.7 26,314 -0.7
iit) K = 12, 376 3.9 3, 888 6.5 16, 266 4.5
5] 5} 17,052] -3.1 4, 644 1.2 21,696| -2.2
[£3] o 7 11,012 -2.6 4, 968 1.9 15,982 | -1.2
JI ik 50, 028] -2.8 24, 626 2.5 74,654 -1.1

XERABEIT, CEEARX2) THAELTWET,

& i 415,332 -1.9 228, 684 2.2 644, 024| -0.4




#w K K & () ANEOAHM. (%) WL aiEsng

il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 439, 484 0.3 396, 882 0.8 836, 368 0.5
H OB K G 25,582 -3.6 10, 176 6.3 35,758 -1.0
5 5y g 33,9941 -0.5 15, 092 0.2 49,088 -0.3
# P Y 114,496| -0.9 92, 598 1.2 207, 096 0.0
& = 72,422 -0.1 40, 908 0.0 113, 330 0.0
A JF 42,244 -0.1 20,644 -0.1 62,888 —0.1
Hr N A 97,332 -0.2 46,964 -0.2 144, 296| -0.2
7N e 82,528 -0.9 43, 950 1.6 126,478 -0.1
il I 78,044 -1.2 39,108] -0.5 117,154 -1.0
VN AN S 74,744) -0.2 41,232 -1.0 115,976 -0.5
T o R 29,490 -2.4 15,286 -1.4 44,7781 2.0
iz} i & 162,786 -0.6 101, 002 3.3 263, 790 0.8
iy & 177,318 -1.3 93,324 -0.2 270,644 -0.9
W e 1% 26,654 -1.7 11,010 -1.4 37,666 -1.6
H a5} " 144, 394| -2.2 59,8541 -1.1 204,250 -1.9
- I NI 36, 990 1.8 17, 666 0.2 54, 658 1.3
i ik 22,678 -1.7 8,946 -2.2 31,626 -1.8
oo i) 32,1521 -1.5 14,016| -1.9 46,168 -1.6
Fig e 66,844 -1.5 32,132] -0.8 98,978 -1.3
[iic} + i 32,644 -3.4 12,740, -1.8 45,386 -3.0
+ 3 124,894 -2.5 82,288 -1.4 207,184 -2.1
72 I VAN 124,948 -2.4 81, 406 0.0 206,354 -1.5
K 1 JE 218,772 0.7 263, 352 1.1 482, 126 .3
& . & 65,212 0.2 41, 652 0.8 106, 864 .2
E0] 44,978 -0.2 30,648] -0.8 75,626 —0.5
XKEREANBEIT, CGREABX2) THELTWET,
= 7 2,371,624 -0.9] 1,612,876 0.5| 3,984,530 -0.3




R =3 ] () ANBOLHM. T%]) A3 ETERE I
il B 43 A g (N o AN B ()
B 4 EOM % E A % 7t % %
R H 439, 484 0.3 396, 882 0.8 836, 368 0.5
AN T I 37,322 -1.3 24,770 3.5 62, 094 0.5
el s = 6, 168 .3 3, 280 3.6 9, 450 3.4
il B, 16, 230 8.3 7,988 3.3 24, 220 6.6
Hr N i 86,604 -0.2 56, 822 3.6 143, 426 1.2
WO A 13, 948 1.2 11,710 -2.6 25,658 -0.5
f. b b8, 450 -2.8 95, 608 3.0 154, 058 0.7
H il w7 76,066 -3.1 31,658] -0.5 107,716 -2.4
mooJI ik 9, 086 0.6 5,284 3.2 14, 370 1.5
B O T 1] 7, 166 .3 3,018 6.5 10, 184 2.1
2] o & 20, 568 LT 20, 766 5.0 41, 336 2.8
P TR B S 18,454 -1.5 7,914 1.8 26,370 -0.6
T 71,570 1.1 50, 654 5.0 122, 224 2.7
S 7 R 1| B == 21,318 -1.7 9,006 -0.4 30,3241 -1.3
e ' W E 30,878] -1.8 11,996 -0.8 42,874 -1.5
T % A ook 20, 166 0.8 11, 230 1.0 31, 398 0.9
#F E59 42,540 -1.4 20,678 -0.1 63,220 -1.0
XEEABEL, (REABX2) THHELTHET,
= 7 976, 008] —0.2 769, 264 1.6| 1,745,290 0.6




